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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten from the following: 1x10=10

frEfRe @-@E wift e Tew wie ¢

a)  What do you mean by solute potential?
Solute potential IFCE F (@RI 2

b) Mention the factors affecting transpiration.
IAECABER LORPSeT Sravd A |

c¢) What is chlorosis?
Chlorosis 2

d) What do you mean by symplastic pathway?
symplastic pathway J&TCe Fl (= 2

e) Write down two micronutrients of plants.

Sfgma 1o MECFIWEHEs @3 19 @12 |
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g)

h)

i)

k)

)
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What is photosystem 1?
Photosystem 1 ¢

Mention the conditions under which R.Q. is
less than 17

(I SRER BF. €. 1 @ (5 3 232

In which organelle does Kreb’s cycle occur?
Kreb’s cycle (@ 2fgre 232

What is epithem?

Epithem %2

What is co-enzyme?

Co-enzyme J#CS J (IR 2

Name one CAM plant.

436 CAM 215 @3 1% (19|

What do you mean by Critical day length?
Critical day length J&1C® J (@RI?

What is the end product of oxidative
phosphorylation?

Oxidative phosphorylation @& *I¥ 3% I 52
Define photomorphogenesis.
Photomorphogenesis @3 kel 7S |

What is florigen?

Florigen ¢
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Answer any five from the following:  2x5=10

@~ 216 2rF Ted e ¢

a)

b)

g)

h)
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What do you mean by Substrate level
phosphorylation?

Substrate level phosphorylation I5C® F (AR 2
Aerobic respiration has more efficiency-
justify.

SRS W (I SR — Ro v

What do you mean by k_?

k_TEICo R

What you mean by Ascent of Sap?

Ascent of Sap I&IC® F (A= 2

What is vernalization?

Vernalization & ¢

What is the difference between hypertonic

and hypotonic solution?

Hypertonic @3 hypotonic solution &3 Yy
< (19|

What is meant by Red-drop in photosynthesis?
AEFACET @ ([T G e (@02

Name two bacteria involved in nitrogen

fixation.
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Nitrogen fixation @ Sik*Ig/esIRT 76 FICHRE
I (Y|

3. Answer any two from the following:  5x2=10

@G 75 SsiF T wie 2

a)

b)
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Write short notes on:
i)  Respiratory quotient
i1)  Phytochrome

Briefly explain the mechanism of Cyclic

photophosphorylation.

Cyclic photophosphorylation @3 #i#afe
S| AT |

Write a short note on Calvin cycle.

Calvin cycle 7=tF e B (=12
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